
階層 品番 特規 形式／品名
1 M5011000 00 EPUG25

風船番号 形式／品名 材質記号 構成数量
D1011001 HDS-25 1

001-0 40758110 ベース M (SPCC) 1
002-0 09960030 浄水器 MRK-25 ***
002-0 09960120 浄水器 MRK2-25 1
003-0 31402910 ひしフランジパッキン 25 EPDM 1
004-0 26927610 連結管 20 (SCS13) 1
005-0 36401313 ボルト M10X20 SUS304 ***
005-0 36403313 ボルト M10X20 SUS304 2
006-0 25306240 直管 R-20X55 PVC 2
007-0 25801115 ホース 25X380 ﾋﾞﾆﾙ 1
008-0 39601220 ホースバンド 38 (SUS301) 2
009-0 28500321 ブッシング 1X3/4 SCS13 1
010-0 28600514 ニップル 3/4 SUS304 1
011-0 41004010 ケース PP 1
012-0 20821710 フィルタ 1
013-0 29103510 ホースカップリング 3/4 ABS ***
013-0 29103810 ホースカップリング 3/4 ABS 2
014-0 25801420 ホース 15X750 1
015-0 36440610 座金組込ボルト M10X25 SUSXM7 3
016-0 85875911 銘板 EPUG25 A1100P-H24 1
017-0 44417410 保護板 650X490 樹脂 2
018-0 36000410 ねじ M6X10 UF､SWRM 18
019-0 44417420 保護板 540X380 樹脂 1
020-0 71208310 ネームラベル (紙) 2
021-0 42021710 ふた 32.40 ﾎﾟﾘｴｽﾃﾙ ***
021-0 42022510 ふた 32､40 ﾎﾟﾘｴｽﾃﾙ 2
023-0 77000110 シールテープ PTFE AR

03934420 ボール弁 20 (PVC) 1
03970120 給水栓 13 1
25109310 配管 25 1
80088710 包装箱セット EPUG (段ボール) 1
80182450 付属品セット EPUG 1

品番

（1／1）





 

 

https://www.pump-oroshi.com/ 

 

 

https://www.pump-oroshi.com/
https://www.pump-oroshi.com/
mailto:the-pump@chuoshoko.com

